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two rings of 3 equally spaced circles each, then a ring of 6 unequally spaced circles,
a ring of 4 unequally spaced circles and completed by a single circle. The angular
diameter of the circles in this arrangement is approximately 48°38/.

The most efficient arrangement found to-date is the one shown in Figure 4. It is
symbolized by 1,4,4,4,4,1. This signifies that a circle is centered on a pole, surrounded
by four consective rings of 4 equally spaced circles each, and that a circle is then
placed at the opposite pole.

The angular diameter of these circles is 49°33'. The value is verified by the
following computation. If the zenith distance PA 2 u, then u is obtained from the
equationH tanw cos 45° tan 49°33' 0.70711 x 1.1729 0.82937

u 39°40', 2 u 79°20' PA

The distance PB -= 180° - 79°20' 100°40', and the distance v AB is given by

cos v -cos2 79°30' + sin2 79°20' cos 45°

-0.185092 + 0.982722 x 0.70711 0.64862

v 49°33'

The results are summarized in the following table.

Number of Symbohc arrangement Angular diameter
circles of circles

20 1,3,3,(6),3,3,1 47°26/
18 3,3, (6), 3,3 47°26'
18 1,3,3,(6),(4),1 48°38/
18 1,4,4,4,4,1 49°33'
17 1,5,5,5,1 51°02/

A similar investigation of two stable arrangements of 33 equal circles on a sphere
was recently made by the author [3]. Michael Goldberg, Washington D. C, USA
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Ungelöste Probleme

Nr. 48. Unter einer Scheibe wird eine offene, zentralsymmetrische, konvexe Punktmenge

der euklidischen Ebene verstanden. Wir sagen, dass eine Menge von Scheiben
eine Minkowskische Verteilung bildet, wenn keine Scheibe den Mittelpunkt einer anderen

enthält.
Sind in einer Minkowskischen Verteilung die Scheiben homothetisch, so ist die

Scheibendichte < 4. Ziehen wir namhch jede Scheibe auf eine mit der ursprünglichen



62 Ungelöste Probleme

konzentrische, homothetische Scheibe mit halb so grossen linearen Dimensionen
zusammen, so erhalten wir eine Menge von nicht übereinandergreifenden Scheiben. Die
Dichte dieser Scheibenpackung ist einerseits < 1, andererseits ein Viertel der
ursprünglichen Dichte.

Bilden in einer Minkowskischen Scheibenverteilung die Mittelpunkte der sonst
beliebigen, im allgemeinen inkongruenten Scheiben ein Gitter, so ist die Scheibendichte

wiederum < 4. Betrachten wir nämlich ein Scheibengitter, das aus einer
beliebig ausgewählten Scheibe durch Anwendung der Gittertranslationen entsteht. Da
die Dichte dieses Scheibengitters nach der obigen Bemerkung < 4 ist, kann der
Flächeninhalt der Scheibe nicht den vierfachen Flächeninhalt eines Grundparallelogramms

übertreffen (Minkowskischer Satz).
Es ist nicht schwer zu zeigen (s. L. Fejes Töth, Minkowskian distribution of discs,

Proceedings Amer. Math. Soc, im Druck), dass es Minkowskische ScheibenVerteilungen

mit beliebig grosser Dichte gibt. Deshalb erhebt sich die Frage: Gibt es eine
universale Dichtenschranke für sämtliche Minkowskische Verteilungen kongruenter
Scheiben?

Dieses Problem scheint recht schwierig zu sein. Wir beantworten hier eine
einfachere Frage: Gibt es eine Minkowskische Verteilung kongruenter Scheiben mit einer
Dichte > 4? Die Antwort ist: ja. Zuerst hat M. N. Bleicher ein Beispiel mit einer
Dichte 6 angegeben. Das folgende Beispiel, das von J. Marshall Osborn herrührt,
zeigt, dass die Dichte einer Minkowskischen Verteilung aus kongruenten Scheiben

beliebig nahe an 8 heranrücken kann.

D C

B3

Bz

B

B,

A
1

A, A2 *,

Wir betrachten das Quadrat ABCD mit der Seitenlänge 1, zerlegen die Strecke
AB in n kongruente Teilstrecken AAlt AXA%,..., An_xB und legen um die Punkte
A!,«.., An__x als Mittelpunkte offene Rechtecke mit den Seitenlängen 2/n und 2, so
dass die längeren Seiten zu der Geraden AD parallel hegen. In gleicher Weise

zerlegen wir die Strecke BC durch die Punkte Blf... Bn_x in n kongruente
Teilstrecken und legen um diese Punkte zu den obigen kongruente Rechtecke, deren
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längere Seiten zu AB parallel liegen Die Dichte dieser 2 (n — 1) Rechtecke im
Quadrat ABCD betragt 2 (n — 1) 2/n 4 (n — l)/n Wenden wir nun auf diese
Rechtecke alle möglichen Translationen r AB + s AD mit ganzzahligen Werten
von r und s an, so erhalten wir eme Minkowskische Verteilung von kongruenten
Rechtecken Da aber jetzt m das Quadrat ABCD ausser den ursprünglichen Rechtecken

auch diejenigen hineingreifen, deren Mittelpunkte auf den Seiten CD und DA
liegen, ist die Rechtecksdichte im Quadrat, und zugleich in der ganzen Ebene,
8 (n - l)/n

Eine Minkowskische Verteilung kongruenter Scheiben mit einer Dichte > 8 ist
nicht bekannt L Fejes Töth

Kleine Mitteilungen
A Note on Sequences and Subsequences

In this note we communicate a simple Observation concerning finite sequences m which
each term of the sequence is one of a finite set of distmct objects Repetitions are allowed,
but not immediate repetitions, in other words two consecutive terms are never equal
The Observation is as follows

Any finite sequence ofN terms without immediate repetition, formedfrom n distmct objects,
contains for each m < n a sequence of M terms without immediate repetition, formed from
m distmct objects, such that

* < M
(1)

n (n — 1) "" m (m — 1)

Proof We can take the n objects to be the integers 1, 2, n, and we can suppose
without loss of generahty that n occurs a minimal number of times, say k times Then
N > nk

We first delete any occurrence of n in the given sequence S which has different immediate

neighbours to the left and right This gives a subsequence of S without immediate
repetition, and whenever n occurs in it, it is as one of a set of consecutive terms

b an a c
or more generally

b an an an a c

Now we delete each remaming occurrence of n, together with one of its neighbours, thus
each of the above sets of consecutive terms becomes b a c In the new sequence
there is no immediate repetition, smce b 4= a and c =# a

We obtain a subsequence Sv of 5, without immediate repetition, formed from the
integers 1,2, n—l, and the number Nv of terms m Sv is at least N —2k It follows
that

Nt > N - 2 k > (1 - 2/n) N

Repetition of the argument gives a subsequence Sr of Nr terms, without immediate
repetition, formed from the integers 1, 2, n — r, and satisfymg

N > n~2 n~ 3 n-r-1 N (n-r) (n-r-1) Nr n n — 1 n — r + 1 n (n — 1) '

and this gives (1) with m — n — r
The inequality is of some mterest m connection with sequences which, in addition to

having no immediate repetition, satisfy some prescnbed "hereditary" condition, that is,
some condition which if vahd for a sequence is necessarily vahd for every subsequence
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